
Order of Math Operations with Numbers up to 100 (E-2)
ADDITION AND SUBTRACTION WITH BRACKETS II

Name:

Time: Score: /

89)

(56− 8− 34) + 17− (48− 24) =

90)

3 + 28 + (78− 48− 30 + 10) =

91)

(22 + 21 + (57 + 14)− (13 + 8)) =

92)

((29 + 6)− 16) + 35 + (91− 68) =

93)

((23 + 57− 37 + 33))− (95− 54) =

94)

55− 42 + ((17 + 35)− 36) + 4 =

95)

((74− 60) + 86− 66)− 44 + 53 =

96)

((66− 38 + 65− 47 + 10− 9)) =

Mathematics: Order of Operations - Level 3 - Expressions - Set 2 13 © workulum.com

https://www.workulum.com

